B VCE & PDF https://lwww.geekcert.com/vcs-325.html
' 2024 Latest geekcert VCS-325 PDF and VCE dumps Download
: GeekCert.com

VCS-325R4As

Administration of Veritas Backup Exec 20.1

Pass Veritas VCS-325 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/vcs-325.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Veritas
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

VCS-325 Practice Test | VCS-325 Exam Questions | VCS-325 Braindumps 1/3


https://www.geekcert.com/vcs-325.html
https://www.geekcert.com/vcs-325.html
https://www.geekcert.com/vcs-325.html

VCE & PDF https://lwww.geekcert.com/vcs-325.html
2024 Latest geekcert VCS-325 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which two conditions cause Data Discovery to fail to detect remote servers in the same domain as the Backup Exec
server? (Choose two.)

A. The administrator failed to add the default logon account to the local administrators group on the remote servers.
B. The servers have Windows Management Instrumentation (WMI) disabled.

C. The firewall on the remote servers is configured to block WMI traffic.

D. The firewall on the remote servers is configured to block port 10000.

E. The remote servers have an old version of the Backup Exec Agent for Windows installed.

Correct Answer: BC

QUESTION 2

An administrator needs to use Backup Exec to protect a VMware environment. The datastore containing the VMware
virtual machines is located on SAN disk storage. The Backup Exec server is also connected to the SAN infrastructure.
The administrator needs to ensure the backup data only travels over the SAN.

How should the administrator proceed?

A. enable forced SAN mode on the VMware vCenter server

B. select the NBD transport option in backup properties

C. use the transport mode priority list option to only select SAN transport mode

D. enter the IP Address of the SAN data storage server

Correct Answer: D

QUESTION 3

What is the minimum number of characters the passphrase must have, in order to enable hardware encryption using the
T10 standard?

A. 8 characters

B. 16 characters
C. 32 characters
D. 128 characters
Correct Answer: B

Reference: https://www.veritas.com/content/support/en_US/doc/59226269-99535599-0/v53895058-99535599
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QUESTION 4

An administrator wants to perform a virtual-based backup of a VMware virtual machine.

In which scenario is the administrator unable to use Instant GRT (Granular Recovery Technology)?
A. when the virtual machine is backed up on deduplication disk storage

B. when the virtual machine is backed up on tape storage

C. when the virtual machine has Microsoft Exchange server application installed

D. when the virtual machine has multiple volumes configured

Correct Answer: A

Reference: https://www.veritas.com/content/support/en_US/doc/59226269-99535599-0/v53949877-99535599

QUESTION 5

Which catalog mode is invalid in a Central Administration Server Option (CASO) environment?
A. centralized

B. distributed

C. replicated

D. synchronized

Correct Answer: D
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